ERGABEAS $7EMET OvIRE/N\L—KR—ILEi%
BRIREER

[(REFEHFI]

aall B
BRI

[(REFELF]

(3 S50

25 — 16 25 — 15
2125 — 13| 0 2125 — 23| 0

23 — 25
325 — 17| 1
25 — 18




K&4| FIIEWPEIOVIRE @Rl DE| Rl | BF
=i =] 2016. 8. 20721 =215 HETEABE

\)—J BIRGLR E 2R

MIREFIEOT, BERIZGES=F—LDHQLUT DFIETIRELZREL TV, Bt [l [EFEE - RIRDGEICOHMET Do
XL RFIDOBE-28. RE -1 R, ZEE-BIN-0RE5XATHEZT D, UL BANL—R—IBRHERAICED,
FIEOSELN FIEQOSELE FIEQOSHE LM

=z . , "
Rl 2 B & Al B 5 e Hfg tyhE Kavr®E | Rk
= | 29 — 27 25 — 17 25 — 17 i 2% 5 3 B/tybk 6] 1= 176
* 2i25 — 22i0|2i25 — 14i0|2i22 — 25{1| & lTHKk ol 6 |ktvk 1| k& 140| 1
— — 25 — 18 e 1.0000 tyhE | 6.0000 |R1rE| 1.2571 iz
g E 27 — 29 25 — 27 27 — 25 2% 1 /tyb 3| /R 197
0i22 — 25i2 * 1i25 — 18i2]|2i23 — 25i 1| A&l+%K 2| 4 |tk 5| k= 104 3
— 23 — 25 25 — 20 fZ%E | 03333 k3| 06000 |RsrE| 1.0155 i
_é_ 17 — 25 27 — 25 26 — 24 fgH 8 2 /b 4 /= 153
= Al 0i14 — 25i2|2i18 — 25} 1 * 2:26 — 24:0| BITH 1] 5 | &tk 3| kA 171] 2
— 25 — 23 = Bk | 0.6667 tyhE | 1.3333 |R1hE| 0.8947 iz
, 17 — 25 25 — 27 24 — 26 o 0 "k 2| #R 178
I 1025 — 22i2|1i25 — 23:i2[0i24 — 26:i2 * B3 3] 3 |&tvhk 6] k= 199] 4
18 — 25 20 — 25 — B2 | 0.0000 k3| 03333 |[R1hE| 0.8945 i

NERL (F T SN THERIZELSD




K&4| FIIEWPEIOVIRE |8l DE| MRl | &F
E =] 2016. 8. 20721 =5 FETERAEABE

\)—J BRI RLR E 2=

KREFIEOT, BFRICHE=F—LDAHQUTDFIETIRAZREL T, 5 mElEFEE - RINDIGRIZOAXIET B,
XKL RHDBE-2R. BE-1R. BHE-RIN-0RE5ATHEZT 5. UL BRNL—R— LB EHERANIZES,
FIEOSELM  FIEQSXRLMAFIEOSE L

; — - - "
g B 8 £ R & A B Hg fyhE Haobz |
= | 21 — 25 25 — 22 25 — 19 i o% S 1 "/vk 3| "R 146
* 018 — 25:2|2:25 — 15:0|1:20 — 25: 2| &I+ 2| 4 | &tk 4 k& 156 3
— — 12 — 25 f%== | 0.3333 k3| 0.7500 |R1orE| 0.9359 iz
, 25 — 21 22 — 25 25 — 23 | B¥ 2 Htvk 4 "R 136
& 5 2:25 — 18:0 * 0i14 — 25i2)|2:i25 — 23i0| &I+% 1| 5 | &ty 2| k& 135 1
- — — B | 06667 tyhEE| 2.0000 |HsorE| 1.0074 iz
2 I 22 — 25 25 — 22 29 — 27 i 228 5 1 "/tybk 3| /R 157
0i15 — 25i2|2:25 — 14} 0 * 1113 — 25: 2| A% 2| 4 | &tk 4 k& 168| 4
— — 28 — 30 B3 | 03333 k3| 0.7500 |R1orE| 0.9345 iz
— 19 — 25 23 — 25 27 — 29 B % 2 /eyk 4 B 197
= Al 2:25 — 20i1]0:23 — 25:2]2i25 — 13i1 * A E 1| 5| &tvk 4 KR 177] 2
25 — 12 — 30 — 28 BEZE | 06667 tyhEE| 1.0000 |Hsor&| 1.1130 iz

126l yhE, 3-46IE/ERREICED,




